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AAE M2l 700,000,000 X 14 700,000,000

Ch. Aalotdatel] 150,000,000 |Htaietd™2teld] 150,000,000 X 14 150,000, 000

ct., drEorael | 20,000,000 [&#-t=20oteteldl 20,000,000 X 14 20,000,000

0. A&l gshl 20,000,000 |H-*=cl&sHl 20,000,000& X 14 20,000,000

17




20143/ HA T

g7l 20144 338 1€

ol &t SEYAIA

FH - 20159 28 282 Xl

i
0
e

d+ =
Off &+ oK &HE
g | = M=

Ht. 2L EHI= 20,000,000 [HA=2oMLEHIZ 20,000,000€ X 14 = 20,000,000
At st SXE S 730,000,000 |&&4a &4l 700,000,000 X 14! = 700,000,000
JIet et 28 S X33 30,000,0008 X 14! = 30,000,000

= INE N 602,000,000
Jb. et=EstE s 30,000,000 |ust=3t&=Hl 30,000,0008 X 14! = 30,000,000
L. XA A EE SSHI 572,000,000 [=LHXATAHEERSSEH 1,300,0008 X 300 390,000,000
HAXATH A A ERSEH| 2,600,000 X 70A 182,000,000

(4) J1ELXI&HI 20,000,000
Jb. JIEFXIAHI 20,000,000 |2IELXI&Hl 20,000,000& X 14 = 20,000,000

BE2REN 210,000,000

& k22l Hl 210,000,000
Jb. elAH| 30,000,000 |el24Hl 30,000,000& X 14l = 30,000,000
Lb. LEHRIZ I 180,000,000 |&EtMIZHl 30,000,0008 X 14! = 30,000,000
JI=2 HE X+ 150,000,000& X 141 = 150,000,000

BemEY 15,000,000

b, MIILFEFTEL -
L. JIEI2E2HIE 15,000,000 |PIEt=2S 2812 15,000,000& X 141 = 15,000,000

E=Sd=/EY 3,600,000,000
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20142 AIH T O

o =B EAMIA

gl 20144 33 1€ 2H - 20158 2E 28€ Al

E (el
3 =
0] & o4 aE2
z|a|=|As e
b, U3 HNEES 3,600,000,000 [&w3HEE=Z3 3,600,000,000& X 14 = 3,600,000,000
SXEsoR0Is HIREY 13, 100,000,000

=3
=8 A&FHSKE

(4)

IEFE N E TR &

2) REMMHSNE 13,000,000,000
(1) EXHS -
(2) HEHS -
(3) #=R=FS -
(4) JIAIIRHS 12,800,000,000 |212217 #S 12,800,000,0008 X 14! = 12,800, 000,000
(5) AIHIBHS 200,000,000 |&JIHI& #S 200,000,0008 X 14 = 200,000,000
(6) XMH2ERHS -
(7) AESANLHS -
(8) JIEIREXLHS -
3) RFENMFSNE 100,000,000
(1) NAHMAHS 100,000,000 [SEXAMAR FS 100,000,0008 X 14 = 100,000,000
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20142l HAHT Ol SEFAA

gl 20144 33 1€ 2H - 20158 2E 28€ Al

m
0
i

d+ =

01l &k o P

0
o

M= M=

(2) HLHIFS _

(3) JIEtRE LA S -

4) JIEHHIS SHMX & -

(1) g2 E -

(2) ARJI=HE

X
(3) FeIISHENS -
X

=
HssHa X E -
=7EN 300,000,000

1) 22 a & 300,000,000

(1) UHESSLA -
=

HESE=sFHIA 300,000,000 |9 E&Z XI= 2,000,000& X 150F = 300,000,000
7S

e EIES -

2) Jl2=StHe -

(1) s|12224 _

o Xt= 21,983,027,328
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